



Имя: _____

Дата: _____ Оценка: _____

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^0 - \frac{1}{3} =$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right)^0 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^0 + \frac{1}{3} =$$

$$\left(-\frac{2}{5}\right)^3 - \frac{1}{4} =$$

$$\left(-\frac{2}{5}\right) - \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{4} =$$

$$\left(-\frac{1}{2}\right) - \frac{2}{5} =$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{3} =$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{1}{2}\right) =$$



Имя: _____

Дата: _____ Оценка: _____

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{2}\right) = \frac{5}{8}$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{2}{5}\right) = \frac{437}{1080}$$

$$\left(-\frac{3}{4}\right)^0 - \frac{1}{3} = \frac{2}{3}$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{133}{320}\right)$$

$$\left(\frac{3}{5}\right)^0 + \left(-\frac{3}{5}\right) = \frac{2}{5}$$

$$\left(\frac{1}{3}\right)^3 - \frac{1}{6} = \left(-\frac{7}{54}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \frac{3}{4} = \left(-\frac{7}{8}\right)$$

$$\left(\frac{1}{2}\right)^2 - \frac{2}{5} = \left(-\frac{3}{20}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{21}{40}\right)$$

$$\left(-\frac{3}{4}\right)^0 + \frac{1}{3} = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(-\frac{2}{5}\right)^3 - \frac{1}{4} = \left(-\frac{157}{500}\right)$$

$$\left(-\frac{2}{5}\right) - \frac{1}{2} = \left(-\frac{9}{10}\right)$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{4} = \frac{129}{500}$$

$$\left(-\frac{1}{2}\right) - \frac{2}{5} = \left(-\frac{9}{10}\right)$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{1}{5}\right) = \frac{61}{80}$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{3}{5}\right) = \frac{32}{45}$$

$$\left(-\frac{1}{4}\right) - \left(-\frac{1}{3}\right) = \frac{1}{12}$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{3} = \frac{2}{75}$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} = \left(-\frac{23}{50}\right)$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{123}{250}\right)$$